
POS NO. SPARE PART DESCRIPTION PCS ITEM NO.

Concealed thermostat and 2-way diverter G-8048-LM39E0-T

1 Big rosette 1 5121800

2 Handle - soldering 1 5173900

3 Handle - soldering 1 5173930

4 Movable sleeve set 1 5121300

5 Rosette frame 1 5119630

6 Temperature limit ring 1 5119660

7 Extension L52,5 1 5119650

8 Screw M4x60  DIN7991 3 9903344

9 Pin 1 2396590

10 Screw M4x50  ISO 2009 1 9903214

11 Key hex PN-ISO 2936-2.5 1 9919051

12 Key hex PN-ISO 2936-2 2 9919050

13 Plug no.3 2 5108300

14 Slide Washer 2 2806640

15 Screw M3x8 ISO4762 4 9903036

16 Frame gasket 2 5119645

17 Collar gasket 2 5121495

18 OR 3x1 2 9917040

19 Screw M4x6 ISO4027 2 9903212

20 Spring 1 2403975

21 Screw M4x6 PN-EN ISO 4029 2 9903157

22 Screw M3x8  ISO-4026 1 9902017


